
����� 4  
����	
���� 

 
����������	
��
������������������������������ ��� ��!"�#$%��"�&���#���'�%� 

(accidental random sampling) (����!"�#$%��"�&
� �)*���$�&������#�+,��!#��-���� .�,�-��� 
($&-%$������� 
� �������+���/"���,��0�#��01��,����!&

� (���%� 400 ��� 
����"&/����
%+�,��'-0����������)*� 3 �"%����������'������$&#"�
)��	 

�"%�
�  1 �������"%��!,,���&���,��)�'�����%� ��� ���! ����.�� �'�$��������� 
���
���2�� �#"������ 
� �$����$�)3((!�$� 

�"%�
�  2 �4#+������������+������������',"��+�,����'��+�����&��$�&������#�+,�
�!#��-����.�,�-��� ($&-%$������� /"���,��0�#��01��,����!&

� �����"���+5�6������� 

�"%�
�  3 )3(($�
� ��/�#"��������������+��� ���������',"��+�,����'��+�����&��$�&��
����#�+,��!#��-����.�,�-���($&-%$������� /"���,��0�#��01��,����!&

� �����"���+5�6�
������ �����
$	&�!)���,���������'#"�����-���+���������$�����',"��+�,����'��+���/"��
�,��0�#��01��,�� 

 
4.1 
��������������� 
 
��	����� 4.1 (���%���'�����'��&���,��(�����#����� 
 

��
 ������  	����� 
��� 205 51.3 
-7+& 195 48.7 
�%� 400 100.0 


� �� : (���������%( 
 

#���&
�  4.1 ���&%"����,��)�'�.
��	��&1��,���"%��-7"�)*� ������ ,+��)*������' 
51.3  ��'�)*����-7+& ,+��)*������' 48.7  
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��	����� 4.2 (���%���'�����'��&���,��(�����#�����! 
 

���! ������ 	����� 
# ���%"�20 )8 3 0.7 
20-30 )8 240 60.0 
31-40 )8 117 29.3 
41-50 )8 28 7.0 
50 )8��	�
) 12 3.0 

�%� 400 100.0 

� �� : (���������%( 

 
#���&
�  4.2  ���&%"����,����&1��,���"%��-7"���"���"%&���! 20-30 )8 ,+��)*������' 60 

��&�&�����"���"%&���! 31-40 )8 ,+��)*������' 29.3  
 
��	����� 4.3 (���%���'�����'���,��(�����#���'�$��������� 
 

	�
����	
���� ������ 	����� 
# ���%"�)�+77�#�� 161 40.2 
)�+77�#�� 207 51.7 
��&�%"�)�+77�#�� 32 8.1 
�%� 400 100.0 

� �� : (���������%( 
  

#���&
�  4.3 ���&%"����,����&1��,���"%��-7"�����������'�$�)�+77�#�� ,+��)*�����
�' 51.7 ��&�&�����"���'�$�# ���%"�)�+77�#�� ,+��)*������' 40.2  
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��	����� 4.4  (���%���'�����'��&���,��(�����#������.�� 
 

"#��$�� ������ 	����� 
��� 219 54.7 
���� 161 40.3 

-�"����&/-���� 20 5.0 
�%� 400 100.0 


� �� : (���������%( 

  
 #���&
�  4.4 ���&%"����,����&1��,���"%��-7"����.����� ,+��)*������' 54.7 
��&�&������.������ ,+��)*������' 40.3  
 
��	����� 4.5 (���%���'�����'��&���,��(�����#���"%&���
�� 
 

	���
� (���/�
%��) ������ 	����� 
1-10,000 ��
 129 32.2 
10,001-20,000 ��
 178 44.5 
20,001-30,000 ��
 74 18.5 
30,001-40,000 ��
 10 2.5 
40,001-50,000 ��
 3 0.8 
50,000 ��
��	�
) 6 1.5 

�%� 400 100.0 

� �� : (���������%( 
 
 #���&
�  4.5 ���&%"����,����&1��,���"%��-7"���"���"%&���
�� 10,001 – 20,000 ��
 
,+��)*������' 44.5  ��&�&��,�� �"%&���
�� 1 – 10,000 ��
 ,+��)*������' 32.2   
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��	����� 4.6 (���%���'�����'��&���,��(�����#���$��9'
� �$����$� 
 

����&���������
�� ������ 	����� 
����#���& 167 41.8 
������"� / -��$� 139 34.7 
����,���,�$% / 7�#+ 94 23.5 
�%� 400 100.0 

� �� : (���������%( 
  

#���&
�  4.6 ���&%"����,����&1��,���"%��-7"�$����$����"����#���&,+��)*������' 41.8 
��&�&�� ,�� ���$�������"�-���-��$� ,+��)*������' 34.7  

 
4.2 
����'�*�		�����������+�����*,��!�"�-�		�$�,�-�%� ���-��
������ �����+0��	*��	

0��	�,7�"*�,��8���	*��	 �7���,��9���	9:��,�	�	!���� "����7���*;�<������� 
 
��	����� 4.7 (���%���'�����'��&���,��(�����#��)�'�.
��������+����#"�',�$	& 
 

�	��$���	+0��	*��	 ������ 	����� 
,"��$#��,��+#/�$#����&+��� 223 32.9 
,"�&%�/"������'�+�,�� 201 29.7 
,"����	�)�'�$� 61 9.0 
,"��+��#��0���# 57 8.4 
,"��
��$�
0�,�� ��
�  55 8.1 
�� �: 35 5.2 
,"��&
'����� 27 4.1 
,"�.��� 18 2.6 
�%� 677* 100.0 

� �� : (���������%( 
* (���%��%���+�  400 ,� ��� �&(�������������#��
������%"� 1 ��� 
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 #���&
�  4.7 ���&%"����,����&1��,���"%��-7"����������+�������',"��$#��,��+#-���
�$#����&+��� ,+��)*������' 32.9 ��&�&��,��,"�&%��� ,"�&%����/"������'�+�,��#"�&: ,+��)*�
�����' 29.7  
 
��	����� 4.8 (���%���'�����'��&���,��(�����#��(���%�,�$	&
� �����+���#"������
 

������,	�?����+0��7��
%�� ������ 	����� 
,�$	&����% 235 58.8 
2 ,�$	& 138 34.5 
3 ,�$	& 16 4.0 
4 ,�$	& 6 1.5 
5 ,�$	& 3 0.8 
5 ,�$	&��	�
) 2 0.4 
�%� 400 100.0 

� �� : (���������%(  
  

#���&
�  4.8 ���&%"����,����&1��,���"%��-7"������������+��� 1 ,�$	&#"������ ,+��)*�
�����' 58.8 ��&�&��������������+��� 2 ,�$	&#"������ ,+��)*������' 34.5  
 
��	����� 4.9 (���%���'�����'��&���,��(�����#��(���%�������
� �����+���#"������ 

 
������	����	���+0��7��
%�� ������ 	����� 

1 ������ 254 63.5 
2 ������ 107 26.8 
3 ������ 26 6.4 
4 ������ 8 2.0 
5 ��������	�
) 5 1.3 
�%� 400 100.0 

� �� : (���������%(
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#���&
�  4.9 ���&%"����,����&1��,���"%��-7"������������+���(���%� 1 ������#"�
�����,+��)*������' 63.5 ��&�&��������������+���(���%� 2  ������#"������,+��)*������' 26.8  
 
��	����� 4.10 (���%���'�����'��&���,��(�����#��(���%��"%&�%��
� �����+��� 

 
07���������+0��	*��	8�7��,	�?� ������ 	����� 
10.00 - 12.00 �. 49 12.3 
12.01 - 14.00 �. 74 18.5 
14.01 - 16.00 �. 18 4.4 
16.01 - 18.00 �. 58 14.5 
18.01 - 20.00 �. 201 50.3 
�%� 400 100.0 

� �� : (���������%()8 2553

 #���&
�  4.10 ���&%"����,����&1��,���"%��-7"�������+������"%&�%�� 18.01-20.00 �. 
,+��)*������' 50.3 ��&�&��������������+������"%&�%�� 12.01-14.00 �. ,+��)*������' 18.5  
 
��	����� 4.11 (���%���'�����'��&���,��(�����#�����,"����������',"��+�,����'��+������#" 

         �',�$	& 
 

���,7�+���	0��	�8�7��,	�?� ������ 	����� 
1 – 5,000 ��
 167 41.8 
5,001 – 10,000 ��
 182 45.5 
10,001 – 20,000 ��
 29 7.2 
20,001 – 40,000 ��
 13 3.2 
50,000 ��
��	�
) 9 2.3 
�%� 400 100.0 

� �� : (���������%(
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#���&
�  4.11 ���&%"����,����&1��,���"%��-7"�����������',"��+�,����'��+������#"
�',�$	&,+��)*����,"� 5,001-10,000 ��
,+��)*������' 45.5 ��&�&�������������',"��+�,����'
��+���,+��)*����,"� 1 - 5,000 ��
 ,+��)*������' 41.8  
 
4.3 
����B������������7���	��%��+0��	*��	+���	0��	�,7�"*�,��8���	*��	����������+�����*,� 

�!�"�-�		�$�,�-�%� ���-��
������ �7���,��9���	9:��,�	�	!���� "����7���*;�<������� 
 
��	����� 4.12 (���%�  �����' ��',"��2�� ���&)3(($�����/�+#.$9;0
� ��/�#"��������������+����� 

        �������',"��+�,����'��+�����&��$�&������#�+,��!#��-����.�,�-���/"�� 
        �,��0�#��01��,����!&

� �����"���+5�6������� 
 

�B����
�����*�$�&C9 
8���� ,7��D����      

(8����) ����
���"!
 ���� ���

���� ��� ��� 
���"!
 

1. ,%��-���-�����&)�'�.

����$�����' 

6 
(1.5) 

5 
(1.3) 

73 
(18.2) 

270 
(67.5) 

46 
(11.5) 

3.86 
(���) 

2. ,%���"���� ������.���$��90
��&1��,�� 

- - 51 
(12.8) 

269 
(67.2) 

80 
(20.0) 

4.07 
(���) 

3. ,%������ �����&��&1��,�� - 3 
(0.7) 

69 
(17.3) 

238 
(59.5) 

90 
(22.5) 

4.04 
(���) 

,"��2�� ��%� = 3.97       �'�$�,%�����,$7��� 

� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 
 #���&
�  4.12 ���&�-��-��%"�)3(($�����/�+#.$9;0���.���%����&%"����,����&1��,��
�-�,%�����,$7���'�$���� ��,"��2�� ��%� 3.97 )3(($�
� �"&/��-�/��#������������-�,%�����,$7
�)*��$��$����,�� ,%���"���� ������.���$��90��&1��,�� (,"��2�� � 4.07) ��&�&�� ,��,%����
�� �����&��&1��,�� (,"��2�� �4.04) ��',%��-���-�����&)�'�.
���$�����' (,"��2�� � 3.86) 
#������$� 
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��	����� 4.13 (���%� �����' ��',"��2�� ���&)3(($�������,�
� ��/�#"��������������+����� 
         �������',"��+�,����'��+�����&��$�&������#�+,��!#��-����.�,�-���/"��      
         �,��0�#��01��,����!&

� �����"���+5�6������� 

 

�B����
���	�,� 
8���� ,7��D����      

(8����) ����
���"!
 ���� ���

���� ��� ��� 
���"!
 

1. �$#��,"�1������������%"��"�& 

�&-���1��,���� �: 

- 
14 

(3.5) 
215 

(53.8) 
129 

(32.2) 
42 

(10.5) 
3.49 

()�����&) 

,"��2�� ��%� = 3.49       �'�$�,%�����,$7)�����& 

� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.13 ���&�-��-��%"�)3(($�������,��$#��,"�1��������
� ����%"��"�&
�&-���
1��,���� �: ���&%"����,����&1��,���-�,%�����,$7���'�$�)�����& ��,"��2�� � 3.49  
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��	����� 4.14  (���%� �����' ��',"��2�� ���&)3(($���������
� 
� ��/�#"��������������+�������� 
         ����',"��+�,����'��+�����&��$�&������#�+,��!#��-����.�,�-���/"��     
          �,��0�#��01��,����!&

� �����"���+5�6������� 
 

�B����
���"#����� 
8���� ,7��D����      

(8����) ����
���"!
 ���� ���

���� ��� ��� 
���"!
 

 1. 
� (�����'�%� - 
9 

(2.3) 
68 

(17.0) 
127 

(31.8) 
196 
(49) 

4.28 
(���) 

 2. ,%���%��&�%�&��&����
�  
17 

(4.2) 
80 

(20.0) 
171 

(42.8) 
108 

(27.0) 
24 

(6.0) 
3.11 

()�����&) 
 3. ,%���'��� �����������&
����
�  

- 7 
(1.8) 

89 
(22.3) 

246 
(61.5) 

58 
(14.5) 

3.89 
(���) 

 4. �%���)<�
������'�%�#"����
�����+��� 

- 2 
(0.5) 

30 
(7.5) 

126 
(31.5) 

242 
(60.5) 

4.52 
(���
� �!�) 

 5. ����+����� ���"� -�$&����+��0 
�+#����  �	���� � 

9 
(2.3) 

2.5 
(6.3) 

118 
(29.5) 

210 
(52.5) 

38 
(9.5) 

3.61 
(���) 

,"��2�� ��%� = 3.88       �'�$�,%�����,$7��� 

� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.14 ���&�-��-��%"�)3(($���������
� ���.���%����,����&1��,���-�
,%�����,$7���'�$������,"��2�� ��%� 3.88 )3(($�
� �"&/��-�/��#������������-�,%�����,$7
���
� �!� 3 �$��$���� ,�� �%���)<�
������'�%�#"���������+��� (,"��2�� � 4.52) ��&�&�� ,��
� 
(�����'�%� (,"��2�� � 4.28) ��',%���'��� �����������&����
�  (,"��2�� �3.89) #������$� 
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��	����� 4.15 (���%� �����' ��',"��2�� ���&)3(($��������)�'���$��$�10��'�"&���+�������
�  
        ��/�#"��������������+������������',"��+�,����'��+�����&��$�&������#�+,� 
        �!#��-����.�,�-���/"���,��0�#��01��,����!&

� �����"���+5�6������� 
 

�B����
�����	�	�0�"�����:9 
8��"7��"	*���	��� 

8���� ,7��D����      
(8����) ����

���"!
 ���� ���
���� ��� ��� 

���"!
 
1. ����=�9�)�'���$��$�10/"��
�� �#"�&: 

10 
(4.5) 

18 
(31.3) 

125 
(31.3) 

219 
(54.8) 

28 
(7.0) 

3.59 
(���) 

2. �����'���(��/���,������+��� 
9 

(2.3) 
35 

(8.8) 
116 
(9.0) 

219 
(54.8) 

21 
(5.3) 

3.52 
(���) 

3. ����+&��, �'���#�������
����' 

12 
(3.0) 

82 
(20.5) 

192 
(48.0) 

109 
(27.3) 

5 
(1.3) 

3.03 
()�����&) 

4. ����-��"%������������',�$	&
#"�
) 

16 
(4.0) 

80 
(20.0) 

200 
(50.0) 

83 
(20.8) 

21 
(5.3) 

3.03 
()�����&) 

,"��2�� ��%� = 3.29       �'�$�,%�����,$7)�����& 

� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.15 ���&�-��-��%"�)3(($��������)�'���$��$�10��'�"&���+����������
.���%����,����&1��,���-�,%�����,$7���'�$�)�����& ��,"��2�� ��%� 3.29 )3(($�
� �"&/��-�
/��#������������-�,%�����,$7���
� �!��$��$���� ,�� ����=�9�)�'���$��$�10/"���� �
#"�&: (,"��2�� � 3.59) ��&�&�� ,�������'���(��/���,������+��� (,"��2�� � 3.52) ����+&��, �'��
�#�����������' (,"��2�� � 3.03)  ��'����-��"%������������',�$	&#"�
) (,"��2�� � 3.03) 
#������$� 
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��	����� 4.16 (���%� �����' ��',"��2�� ���&)3(($�������$�&��
� �-���+���
� ��/�#"������������ 
        ��+������������',"��+�,����'��+�����&��$�&������#�+,��!#��-����.�, 
        �-���/"���,��0�#��01��,����!&

� �����"���+5�6������� 
 

�B����
�������������+-��	*��	 
8���� ,7��D����      

(8����) ����
���"!
 ���� ���

���� ��� ��� 
���"!
 

1. �����+�����&��$�&��
� ��
,!9.�� 

- - 
82 

(20.5) 
238 

(59.5) 
80 

(20.0) 
4.00 

(���) 
2. (���%���$�&������&��#"����
�-���+��� 

14 
(3.5) 

84 
(21.0) 

136 
(34.0) 

126 
(31.5) 

40 
(10.0) 

3.24 
()�����&) 

3. ,%���)*��$���&��&��$�&�� - 6 
(1.5) 

106 
(26.5) 

220 
(55.0) 

68 
(17.0) 

3.88 
(���) 

,"��2�� ��%� =  3.71       �'�$�,%�����,$7��� 


� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.16 ���&�-��-��%"�)3(($�������$�&��
� �-���+������.���%����,����&
1��,���-�,%�����,$7���'�$���� ��,"��2�� ��%� 3.71 )3(($�
� �"&/��-�/��#������������-�
,%�����,$7���
� �!��$��$���� ,�� �����+�����&��$�&��
� ��,!9.�� (,"��2�� � 4.00) ��&�&�� 
,��,%���)*��$���&��&��$�&�� (,"��2�� � 3.88) ��' (���%���$�&������&��#"�����-���+��� 
(,"��2�� � 3.24)  #������$� 
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��	����� 4.17 (���%� �����' ��',"��2�� ���&)3(($�������'�%�����-���+���
� ��/�#"���������  
        �����+������������',"��+�,����'��+�����&��$�&������#�+,��!#��-����.�,   
         �-���/"���,��0�#��01��,����!&

� �����"���+5�6������� 
 

�B����
����	������	+-��	*��	 
8���� ,7��D����      

(8����) ����
���"!
 ���� ���

���� ��� ��� 
���"!
 

1. ,%���'�%��%����%�����
��+��� 

- 
7 

(1.8) 
155 

(38.8) 
182 

(45.5) 
56 

(14.0) 
3.72 

(���) 
2. ,%�����#��&��')���.$�(��
��������+��� 

- 
3 

(0.8) 
120 

(30.0) 
210 

(52.5) 
67 

(16.8) 
3.85 

(���) 
3. ,%���������')�'�+
1+.��
��&�!)��90 ������ 

2 
(0.5) 

6 
(1.5) 

142 
(35.5) 

196 
(49.0) 

54 
(13.5) 

3.74 
(���) 

,"��2�� ��%� =  3.77       �'�$�,%�����,$7��� 


� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.17 ���&�-��-��%"�)3(($�������'�%�����-���+������.���%����,����&
1��,���-�,%�����,$7���'�$���� ��,"��2�� ��%� 3.77 )3(($�
� �"&/��-�/��#������������-�
,%�����,$7���
� �!��$��$���� ,�� ,%�����#��&��')���.$�(����������+��� (,"��2�� � 3.85) 
��&�&�� ,��,%���������')�'�+
1+.����&�!)��90������ (,"��2�� � 3.74) ��' ,%���'�%�
�%����%�������+��� (,"��2�� � 3.72)  #������$� 
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4.4  
���,���"�����:9	�-�7���B�����7��F��������7���	��%��+0��	*��	+���	0��	�,7�"*�,��8�� 
�	*��	����������+�����*,��!�"�-�		�$�,�-�%� ���-��
������ �7���,��9���	9
:��,�	�	!���� "����7���*;�<������� 
4.4.1  ��	�*�,	��-9,���"�����:9	�-�7����
���	�
��,���"��,�G���������8��"��#��    

    �����+0��	*��	�7��B�����7��F +�
�����*�$�&C9 
��	����� 4.18  ,%���$��$�10�'-%"�&�����&/��#������������$��'�$�,%�����,$7��&)3(($�  

          ����,%��-���-�����&)�'�.

� �$�����' 
 

��
 
,���-���-�������	��$����	��0��	� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

���  (���) 3 46 129 27 205 
(0.8) (11.5) (32.3) (6.8) (51.3) 

-7+& (���) 8 27 141 19 195 
(2.0) (6.8) (35.3) (4.8) (48.8) 

�%� 
11 73 270 46 400 

(3.8) (18.3) (67.5) (11.5) (100.0) 
2� =  8.898                                 d.f. =3                                     P-value =  0.031                              


� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 
 #���&
�  4.18 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%��-���-���
��&)�'�.

� �$�����'���'�$���� ,+��)*������' 32.3 �9'
� ���,�����-7+&�-��'�$�,%�����,$7
���'�$���� ,+��)*������' 35.3  
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 8.898  ���'�$��$����,$7 0.031 6� &��,"�����
�%"� 0.05 (�&��!)
��%"� )3(($�����,%��-���-�����&)�'�.

� 1��,���$�����'��,%���$��$�10 
�$� ��� �$ �,�� ���,����������'���-7+&�-�,%�����,$7�$�)3(($�����,%��-���-�����&
)�'�.

� 1��,���$�����'
� �#�#"�&�$� 
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��	����� 4.19  ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%���"���� � 
         �����.���$��90��&1��,�� 

��
 
,����7��0%��#%�+�$������&9���:��,�	 

	�� 	�
��,���"��,�G����B���� (	�����) 
������� ��� ������"!
 

��� (���) 30 135 40 205 
(7.5) (33.8) (10.0) (51.3) 

-7+& (���) 21 134 40 195 
(5.3) (33.5) (10.0) (48.8) 

�%� 
51 269 80 400 

(12.8) (67.3) (20.0) (100.0) 
 2� =  1.343                                           d.f. =  2                                 P-value =  0.511                     

� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 

#���&
�  4.19 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%���"���� ������
.���$��90��&1��,�����'�$���� ,+��)*������' 33.8 �9'
� ���,�����-7+&
� �-��'�$�
,%�����,$7���'�$���� ,+��)*������' 33.5  
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 1.343 ���'�$��$����,$7 0.511 6� &��,"�����%"� 
0.05 (�&��!)
��%"� )3(($�����,%���"���� ������.���$��90��&1��,��
�"��,%���$��$�10 �$� ��� 
�$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����,%���"���� ������.���$��90
��&1��,��
� 
�"�#��#�#"�&�$� 
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��	����� 4.20 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%���� 
        �� �����&��&1��,�� 

��
 
,�����0%���"������:��,�	 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 3 42 118 42 205 
(0.8) (10.5) (29.5) (10.5) (51.3) 

-7+& (���) - 27 120 48 195 
- (6.8) (30.0) (12.0) (48.8) 

�%� 
3 69 238 90 400 

(0.8) (17.3) (59.5) (22.5) (100.0) 
2� =  6.432                                 d.f. =3                                     P-value =  0.092                              


� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.20 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%������ �����&��&
1��,�����'�$���� ,+��)*������' 29.5 �9'
� ���,�����-7+&
� �-��'�$�,%�����,$7���'�$���� 
,+��)*������' 30.0 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 6.432  ���'�$��$����,$7 0.092 6� &��,"�����%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($�����,%������ �����&��&1��,��
�"��,%���$��$�10 �$� ��� �$ �,�� 
���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�,%������ �����&��&1��,�� 
� 
�"�#�#"�&
�$� 
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        4.4.2  ��	�*�,	��-9,���"�����:9	�-�7����
���	�
��,���"��,�G������,�������+0��	*��	�7�
�B�����7��F +�
���	�,� 
 
��	����� 4.21 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($������$#��,"�1��� 

       ���������%"��"�&
�&-���1��,���� �: 
 

��
 
���	�,7�:		������#����7�07�����-	%�:��,�	�%��F 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

���  (���) 10 109 68 18 205 
(2.5) (27.3) (17.0) (4.5) (51.3) 

-7+& (���) 4 106 61 24 195 
(1.0) (26.5) (15.3) (6.0) (48.8) 

�%� 
14 215 129 42 400 

(3.5) (53.8) (32.3) (10.5) (100.0) 
2� =  3.603                                 d.f. = 3                                    P-value =  0.308                        


� �� (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.21 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($������$#��,"�1��������
����%"��"�&
�&-���1��,���� �:���'�$�)�����& ,+��)*������' 27.3 �9'
� ���,�����-7+&
� �-�
�'�$�,%�����,$7���'�$�)�����& ,+��)*������' 26.5 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 3.603  ���'�$��$����,$7 0.308 6� &��,"�����%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($������$#��,"�1������������%"��"�&
�&-���1��,���� �:
�"��
,%���$��$�10 �$� ��� �$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($������$#��
,"�1������������%"��"�&
�&-���1��,���� �:
�"�#�#"�&�$� 
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        4.4.3  ��	�*�,	��-9,���"�����:9	�-�7����
���	�
��,���"��,�G������,�������+0��	*��	�7�
�B�����7��F +�
���"#����� 
 
��	����� 4.22 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����
� (����  
                      �'�%� 

         

��
 
�����
	#"�
�� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

���  (���) 9 25 73 98 205 
(2.3) (6.3) (18.3) (24.5) (51.3) 

-7+& (���) - 43 54 98 195 
- (10.8) (13.5) (24.5) (48.8) 

�%� 
9 68 127 19.6 400 

(2.3) (17.0) (31.8) (49.0) (100.0) 
2� =  16.367                               d.f. = 3                                   P-value =  0.001                      


� �� :(�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.22 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����
� (�����'�%���
�'�$����
� �!� ,+��)*������' 24.5 �9'
� ���,�����-7+&
� �-��'�$�,%�����,$7���'�$����
� �!� 
,+��)*������' 24.5 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 16.367  ���'�$��$����,$7 0.001 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($�����
� (�����'�%���,%���$��$�10 �$� ��� �$ �,�� ���,�����
�����'���,�����-7+&�-�,%�����,$7�$�)3(($�����
� (�����'�%�
� �#�#"�&�$� 
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��	����� 4.23 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%���%��&  
           �%�&��&����
�  
 

��
 
,���������������"#����� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 55 84 48 18 205 
(13.8) (21.0) (12.0) (4.5) (51.3) 

-7+& (���) 42 87 60 6 195 
(10.5) (21.8) (15.0) (1.5) (48.8) 

�%� 
80 171 108 24 400 

(24.3) (42.8) (27.0) (6.0) (100.0) 
2� =  8.884                       d.f. = 3                                ,"� P-value =  0.031                       


� �� :(�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.23 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%���%��&�%�&��&
����
� ���'�$�)�����& ,+��)*������' 21.0 �9'
� ���,�����-7+&
� �-��'�$�,%�����,$7��
�'�$�)�����& ,+��)*������' 21.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 8.884  ���'�$��$����,$7 0.031 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($�����,%���%��&�%�&��&����
� ��,%���$��$�10 �$� ��� �$ �,�� 
���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����,%���%��&�%�&��&����
� 
� �#�#"�&
�$� 
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��	����� 4.24  ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%���'��� 
                 �����������&����
�  
 

��
 
,���"���
�	���	������"#����� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 4 43 124 34 205 
(1.0) (10.8) (31.0) (8.5) (51.3) 

-7+& (���) 3 46 122 24 195 
(0.8) (11.5) (30.5) (6.0) (48.8) 

�%� 
7 89 246 58 400 

(1.8) (22.3) (61.5) (14.5) (100.0) 
2� =  1.735                          d.f. = 3                                  P-value =  0.629                        


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.24 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%���'���
�����������&����
� ���'�$���� ,+��)*������' 31.0 �9'
� ���,�����-7+&�-��'�$�,%�����,$7
���'�$���� ,+��)*������' 30.5 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 1.735  ���'�$��$����,$7 0.629 6� &��,"�����%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($�����,%���'��������������&����
� 
�"��,%���$��$�10 �$� ��� 
�$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����,%���'��������������&
����
� 
� 
�"�#�#"�&�$� 
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��	����� 4.25 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($������%���)<�
�� 
           ����'�%�#"���������+��� 
 

��
 
������H
�����	"�
���7���	+0��	*��	 

	�� 	�
��,���"��,�G����B���� (	�����) 
������� ��� ������"!
 

���  (���) 20 52 133 205 
(8.3) (15.8) (26.5) (51.3) 

-7+& (���) 12 74 109 195 
(4.8) (24.3) (19.8) (48.8) 

�%� 
32 126 242 400 

(13.1) (40.0) (46.3) (100.0) 
2� =  9.177                                      d.f. = 3                                  P-value =  0.027                          


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.25 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($������%���)<�
�����
�'�%�#"���������+������'�$����
� �!� ,+��)*������' 26.5 ���9'
� ���,�����-7+&�-��'�$�
,%�����,$7���'�$����
� �!� ,+��)*������' 19.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 9.177  ���'�$��$����,$7 0.027 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($������%���)<�
������'�%�#"���������+�����,%���$��$�10 �$� 
��� �$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($������%���)<�
������'�%�#"�
��������+���
� �#�#"�&�$� 
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��	����� 4.26 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($���������+����� �:  
        ��"� -�$&����+��0 �+#���� ��'�	���� � 

 

��
 
���	*��	�%��F �07� -���"%��*��9 �*��"�	 8���?��
%�� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 27 54 108 16 205 
(6.8) (13.5) (27.0) (4.0) (51.3) 

-7+& (���) 7 64 102 22 195 
(1.8) (16.0) (25.5) (5.5) (48.8) 

�%� 
34 118 210 38 400 

(8.6) (29.5) (52.5) (9.5) (100.0) 
2� =  13.489                               d.f. = 3                             P-value =  0.004                  


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.26 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($������������+����� �: 
��"� -�$&����+��0 �+#���� ��'�	���� � ���'�$���� ,+��)*������' 27.0 �9'
� ���,�����-7+&�-�
�'�$�,%�����,$7���'�$���� ,+��)*������' 25.5 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 13.489 ���'�$��$����,$7 0.00. 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($������������+����� �: ��"� -�$&����+��0 �+#���� ��'�	���� � ��
,%���$��$�10 �$� ��� �$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($����������
��+����� �: ��"� -�$&����+��0 �+#���� ��'�	���� �
� �#�#"�&�$� 
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        4.4.4  ��	�*�,	��-9,���"�����:9	�-�7����
���	�
��,���"��,�G������,�������+0��	*��	�7� 
�B�����7��F+�
����	�0�"�����:98��"7��"	*���	���    
 
��	����� 4.27 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($���������=�9� 

         )�'���$��$�10/"���� �#"�&:  
 

��
 
��	IJ�&��	�0�"�����:9�7��"%���7��F 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 28 67 98 12 205 
(7.0) (16.8) (24.5) (3.0) (51.3) 

-7+& (���) - 58 121 16 195 
- (14.5) (30.3) (4.0) (48.8) 

�%� 
28 125 219 28 400 

(7.0) (31.3) (54.8) (7.0) (100.0) 
2� =  31.405                               d.f. = 3                                  P-value =  0.000                        


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.27 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($��������������=�9�
)�'���$��$�10/"���� �#"�&: ���'�$���� ,+��)*������' 24.5 �9'
� ���,�����-7+&�-��'�$�
,%�����,$7���'�$���� ,+��)*������' 30.3 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 31.405 ���'�$��$����,$7 0.000 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($���������=�9�)�'���$��$�10/"���� �#"�&: ��,%���$��$�10 
�$� ��� �$ �,��      ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($���������=�9�)�'�� 
�$��$�10/"���� �#"�&: 
� �#�#"�&�$� 
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��	����� 4.28  ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($����������'��� 
         (��/���,������+��� 

 

��
 
��	8������������,�+0��	*��	 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 29 58 106 12 205 
(7.3) (14.5) (26.5) (3.0) (51.3) 

-7+& (���) 15 58 113 9 195 
(3.8) (14.5) (28.3) (2.3) (48.8) 

�%� 
44 116 219 21 400 

(11.0) (29.0) (54.8) (5.3) (100.0) 
2� =  4.860                                d.f. = 4                                  P-value =  0.182                      


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.28 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($����������'���(��/���,�
�����+������'�$���� ,+��)*������' 26.5 �9'
�  ���,�����-7+&�-��'�$�,%�����,$7���'�$���� 
,+��)*������' 28.3 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 4.860 ���'�$��$����,$7 0.182 6� &��,"�����%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($����������'���(��/���,������+���
�"��,%���$��$�10�$���� �$ �,�� 
���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($����������'���(��/���,������+��� 
� 
�"
�#�#"�&�$� 
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��	����� 4.29 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($���������+&��, 
             �'���#�����������' 
 

��
 
��	0*�I0, "�"�8���+���	0��	� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 63 89 52 1 205 
(15.8) (22.3) (13.0) (0.3) (51.3) 

-7+& (���) 31 103 57 4 195 
(7.8) (25.8) (14.3) (1.0) (48.8) 

�%� 
94 192 109 5 400 

(23.5) (48.0) (27.3) (1.3) (100.0) 
2� =  13.702                                  d.f. = 3                                  P-value =  0.003                     


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.29 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($���������+&��, �'��
�#�����������' ���'�$�)�����& ,+��)*������' 22.3 �9'
� ���,�����-7+&�-��'�$�,%�����,$7
���'�$�)�����& ,+��)*������' 25.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 13.702 ���'�$��$����,$7 0.003 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($���������+&��, �'���#�����������' ��,%���$��$�10�$���� 
�$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($���������+&��, �'���#�������
����'
� �#�#"�&�$� 
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��	����� 4.30 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($���������-��"%� 
        �����������',�$	&#"�
) 

 

��
 
��	+-�"7���
+���	0��	�,	�?��7��� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 55 101 37 12 205 
(13.8) (25.3) (9.3) (3.0) (51.3) 

-7+& (���) 41 99 46 9 195 
(10.3) (24.8) (11.5) (2.3) (48.8) 

�%� 
96 200 83 21 400 

(24.0) (50.0) (20.8) (5.3) (100.0) 
2� =  3.218                                d.f. = 3                                     P-value =  0.359                    


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.30 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($���������-��"%�����
�������',�$	&#"�
) ���'�$�)�����& ,+��)*������' 25.3 �9'
� ���,�����-7+&
� �-��'�$�
,%�����,$7���'�$�)�����& ,+��)*������' 24.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 3.218 ���'�$��$����,$7 0.359 6� &��,"�����%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($���������-��"%������������',�$	&#"�
)
�"��,%���$��$�10�$���� 
�$ �,�� ���,����������'���-7+&�-�,%�����,$7�$�)3(($���������-��"%������������',�$	&#"�
)

� 
�"�#�#"�&�$� 
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      4.4.5 ��	�*�,	��-9,���"�����:9	�-�7����
���	�
��,���"��,�G������,�������+0��	*��	�7�
�B�����7��F +�
�������������+-��	*��	 
��	����� 4.31 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($����������+��� 

        ��&��$�&��
� ��,!9.�� 
 

��
 
��	�	*��	���������������,!&$�� 

	�� 	�
��,���"��,�G����B���� (	�����) 
������� ��� ������"!
 

��� (���) 49 119 37 205 
(12.3) (29.8) (9.3) (51.3) 

-7+& (���) 33 119 43 195 
(8.3) (29.8) (10.8) (48.8) 

�%� 
82 238 80 400 

(20.5) (59.5) (20.0) (100.0) 
2� =  3.324                                    d.f. = 2                                  P-value =  0.190                       


� �� : (�����,���%9
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.31 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($����������+�����&
��$�&��
� ��,!9.�� ���'�$���� ,+��)*������' 29.8 �9'
� ���,�����-7+&
� �-��'�$�,%�����,$7
���'�$���� ,+��)*������' 29.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 3.324  ���'�$��$����,$7 0.190 6� &��,"�����%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($����������+�����&��$�&��
� ��,!9.�� 
�"��,%���$��$�10�$���� 
�$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($����������+�����&��$�&��
� ��
,!9.��
� 
�"�#�#"�&�$� 
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��	����� 4.32 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����(���%���$� 
        &������&��#"�����-���+��� 

 

��
 
���������������������7���	+-��	*��	 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 63 72 51 19 205 
(15.8) (18.0) (12.8) (4.8) (51.3) 

-7+& (���) 35 64 75 21 195 
(8.8) (16.0) (18.8) (5.3) (48.8) 

�%� 
98 136 126 40 400 

(24.5) (34.0) (31.5) (10.0) (100.0) 
2� =  12.900                               d.f. = 3                                    P-value =  0.005                       


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.32 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����(���%���$�&��
����&��#"�����-���+��� ���'�$�)�����& ,+��)*������' 18.0  �"%����,�����-7+&�-��'�$�
,%�����,$7���'�$���� ,+��)*������' 18.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 12.900 ���'�$��$����,$7 0.005 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($�����(���%���$�&������&��#"�����-���+�����,%���$��$�10
�$���� �$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����(���%���$�&��
����&��#"�����-���+���
� �#�#"�&�$� 
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��	����� 4.33 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%���)*��$� 
        ��&��&��$�&�� 

 

��
 
,�����K����������������� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 3 57 121 24 205 
(0.8) (14.3) (30.3) (6.0) (51.3) 

-7+& (���) 3 49 99 44 195 
(0.8) (12.3) (24.8) (11.0) (48.8) 

�%� 
6 106 220 68 400 

(1.5) (26.5) (55.0) (17.0) (100.0) 
2� =  8.441                                 d.f. = 3                                     P-value =  0.038                     


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.33 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%���)*��$���&��&
��$�&�� ���'�$���� ,+��)*������' 30.3 �9'
� ���,�����-7+&�-��'�$�,%�����,$7���'�$���� 
,+��)*������' 24.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 8.441 ���'�$��$����,$7 0.038 6� &��,"������%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($�����,%���)*��$���&��&��$�&����,%���$��$�10�$���� �$ �,�� 
���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����,%���)*��$���&��&��$�&�� 
� �#� 
#"�&�$� 
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        4.4.6  ��	�*�,	��-9,���"�����:9	�-�7����
���	�
��,���"��,�G������,�������+0��	*��	�7�
�B�����7��F +�
����	������	+-��	*��	 
 
��	����� 4.34 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%���'�%� 

        �%����%�������+��� 
 

��
 
,���"�
��	�
�	L�+���	+-��	*��	 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 4 86 91 24 205 
(1.0) (21.5) (22.8) (6.0) (51.3) 

-7+& (���) 3 69 91 32 195 
(0.8) (17.3) (22.8) (8.0) (48.8) 

�%� 
7 155 182 56 400 

(1.8) (38.8) (45.5) (14.0) (100.0) 
2� =  2.902                                d.f. = 3                                     P-value =  0.407                   


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.34 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%���'�%��%����%
������-���+��� ���'�$���� ,+��)*������' 22.8 �9'
� ���,�����-7+&
� �-��'�$�,%�����,$7��
�'�$���� ,+��)*������' 22.8 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 2.902 ���'�$��$����,$7 0.407 6� &��,"�����%"� 
0.05 �$&�$	�(�&��!)
��%"� )3(($�����,%���'�%��%����%������-���+��� 
�"��,%���$��$�10�$���� 
�$ �,�� ���,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����,%���'�%��%����%�����
�-���+���
� 
�"�#�#"�&�$� 
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��	����� 4.35 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%�����#��& 
        ��')���.$�(����������+��� 

 

��
 
,���#������8�����
$�������	+0��	*��	 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� (���) 3 60 106 36 205 
(0.8) (15.0) (26.5) (9.0) (51.3) 

-7+& (���) - 60 104 31 195 
- (15.0) (26.0) (7.8) (48.8) 

�%� 
3 120 210 67 400 

(0.8) (30.0) (52.5) (16.8) (100.0) 
2� =  3.144                                d.f. =  3                                    P-value =  0.370                        


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.35 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%�����#��&��'
)���.$�(����������+������'�$���� ,+��)*������' 26.5 �9'
� ���,�����-7+&
� �-��'�$�
,%�����,$7���'�$���� ,+��)*������' 26.0 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 3.144  ���'�$��$����,$7 0.370 6� &��,"�
����%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($�����,%�����#��&��')���.$�(����������+��� 
�"��
,%���$��$�10�$���� �$ �,�����,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����,%��
���#��&��')���.$�(����������+���
� 
�"�#�#"�&�$� 
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��	����� 4.36 ,%���$��$�10�'-%"�&�����&���,���$��'�$�,%�����,$7��&)3(($�����,%������� 
        ��')�'�+
1+.����&�!)��90������ 

 

��
 
,����	���8���	�"*�:*$������!��	&9+�"��� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

���  (���) 3 75 102 25 205 
(0.8) (18.8) (25.5) (6.3) (51.3) 

-7+& (���) 5 67 94 29 195 
(1.3) (16.8) (23.5) (7.3) (48.8) 

�%� 
8 142 196 54 400 

(2.0) (35.5) (49.0) (13.5) (100.0) 
2� =  1.324                                 d.f. = 3                                    P-value =  0.723                        


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.36 ���&%"����,���������-��'�$�,%�����,$7�$�)3(($�����,%���������'
)�'�+
1+.����&�!)��90���������'�$���� ,+��)*������' 25.5 �9'
� ���,�����-7+&�-��'�$�
,%�����,$7���'�$���� ,+��)*������' 23.5 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
��  1.324  ���'�$��$����,$7 0.723 6� &��,"�
����%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($�����,%���������')�'�+
1+.����&�!)��90������ 
�"��
,%���$��$�10�$���� �$ �,�����,����������'���,�����-7+&�-�,%�����,$7�$�)3(($�����,%��
�������')�'�+
1+.����&�!)��90������
� 
�"�#�#"�&�$� 
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        4.4.7  ��	�*�,	��-9,���"�����:9	�-�7�����!���	�
��,���"��,�G������,�������+0��	*��	�7�
�B����
����7��F 
��	����� 4.37 ,%���$��$�10�'-%"�&���!��&���,���$��'�$�,%�����,$7��&)3(($�����,%�����#��& 

        ��')���.$�(����������+��� 
 

���! 
,���#������8�����
$�������	+0��	*��	 

�%� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

# ���%"�30 )8 
- 84 117 42 243 
- (21.0) (29.3) (10.5) (60.8) 

31-50 )8 
3 33 90 19 145 

(0.8) (8.3) (22.5) (4.8) (36.3) 

50 )8��	�
) 
- 3 3 6 12 
- (0.8) (0.8) 1.5 (3.0) 

�%� 
3 120 210 67 400 

(0.8) (30.0) (52.5) (16.8) (100.0) 
2� =  23.847                              d.f. = 6                                    P-value =  0.001                    


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.37 ���&%"����,���"%��-7"�����!# ���%"� 30 )8�-��'�$�,%�����,$7�$�)3(($�����
,%�����#��&��')���.$�(����������+������'�$���� ,+��)*������' 29.3 �9'
� ���,��
� �����! 
31-50 )8 �-��'�$�,%�����,$7���'�$���� ,+��)*������' 22.5  
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
��  23.847 ���'�$��$����,$7 0.001 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($�����,%�����#��&��')���.$�(����������+�����,%���$��$�10
�$����! �$ �,�����,����&1��,��
� �����!#"�&�$�('�-�,%�����,$7�$�)3(($�����,%�����#��&��'
)���.$�(����������+���
� �#�#"�&�$� 
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��	����� 4.38 ,%���$��$�10�'-%"�&���!��&���,���$��'�$�,%�����,$7��&)3(($���������+&��, 
         �'���#�� 

 

���! 
��	0*�I0, "�"�8��� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

# ���%"�30 )8 
63 117 60 3 243 

(15.8) (29.3) (15.0) (0.8) (60.8) 

31-50 )8 
28 69 46 2 145 

(7.0) (17.3) (11.5) (0.5) (36.3) 

50 )8��	�
) 
3 6 3 - 12 

(0.8) (1.5) (0.8) - (3.0) 

�%� 
94 192 109 5 400 

(23.5) (48.0) (27.3) (1.3) (100.0) 
2� =  3.561                                d.f. = 6                                    P-value =  0.736                   


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.38 ���&%"����,���"%��-7"�����!# ���%"� 30 )8�-��'�$�,%�����,$7�$�)3(($�����
����+&��, �'���#�� ���'�$�)�����& ,+��)*������' 29.3 �9'
� ���,��
� �����! 31-50 )8�-�
�'�$�,%�����,$7���'�$�)�����& ,+��)*������' 17.3   
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
��  3.561 ���'�$��$����,$7 0.736  6� &��,"�
����%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($���������+&��, �'���#�� 
�"��,%���$��$�10�$����! �$ �,��
���,��
� �����!�#�#"�&�$�('�-�,%�����,$7�$�)3(($���������+&��, �'���#��
� 
�"�#�#"�&�$� 
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��	����� 4.39 ,%���$��$�10�'-%"�&���!��&���,���$��'�$�,%�����,$7��&)3(($���������-��"%� 
         �����������',�$	&#"�
) 

 

���! 
��	+-�"7���
+���	0��	�,	�?��7��� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

# ���%"� 30 )8 
66 120 45 12 240 

(16.5) (30.0) (11.3) (3.0) (60.0) 

31-50 )8 
27 74 34 6 117 

(6.8) (18.5) (8.5) (1.5) (29.3) 

50 )8��	�
) 
3 6 - 3 12 

(0.8) (1.5) - (0.8) (3.0) 

�%� 
96 200 83 21 400 

(24.0) (50.0) (20.8) (5.3) (100.0) 
2� =  17.270                               d.f. =6                                    P-value =  0.008                    


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.39 ���&%"����,���"%��-7"�����!# ���%"� 30 )8�-��'�$�,%�����,$7�$�)3(($�����
����-��"%������������',�$	&#"�
) ���'�$�)�����& ,+��)*������' 30   �9'
� ���,��
� �����! 
31-50 )8�-��'�$�,%�����,$7���'�$�)�����& ,+��)*������' 18.5 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
��  17.270 ���'�$��$����,$7 0.008 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($���������-��"%������������',�$	&#"�
) ��,%���$��$�10�$����! 
�$ �,�����,��
� �����!�#�#"�&�$�('�-�,%�����,$7�$�)3(($���������-��"%������������',�$	&#"�
)

� �#�#"�&�$� 
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     4.4.8  ��	�*�,	��-9,���"�����:9	�-�7��"#��$�����	�
��,���"��,�G������,�������+0�
�	*��	�7��B����
����7��F 
                
��	����� 4.40 ,%���$��$�10�'-%"�&����.����&���,���$��'�$�,%�����,$7��&)3(($�����,%�� 

         -���-�����&)�'�.

� �$�����' 
 

"#��$�� 
,���-���-�������	��$����	��0��	� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� 
1 33 158 27 219 

(0.3) (8.3) (39.5) (6.8) (54.8) 

���� 
9 36 100 16 161 

(2.3.) (9.0) (25.0) (4.0) (40.3) 
-�"����& /-���� 1 4 12 3 20 

(0.3) (1.0) (3.0) (0.8) (5.0) 

�%� 
11 73 270 46 400 

(2.7) (18.3) (67.5) (11.5) (100.0) 
2� = 14.263                               d.f. = 6                                     P-value =  0.027                     


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.40 ���&%"����,���"%��-7"������.������-��'�$�,%�����,$7�$�)3(($�����
,%��-���-�����&)�'�.

� �$�����'���'�$���� ,+��)*������' 39.5 �9'
� ���,��
� ��
����.�������-��'�$�,%�����,$7���'�$���� ,+��)*������' 25.0   
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
��  14.263 ���'�$��$����,$7 0.027 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($�����,%��-���-�����&)�'�.

� �$�����' ��,%���$��$�10�$�
����.�� �$ �,�����,��
� ������.���#�#"�&�$�('�-�,%�����,$7�$�)3(($�����,%��-���-���
��&)�'�.

� �$�����'
� �#�#"�&�$� 
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��	����� 4.41 ,%���$��$�10�'-%"�&����.����&���,���$��'�$�,%�����,$7��&)3(($�����,%�� 
       �)*��$���&��&��$�&����$�&�� 

 

"#��$�� 
,�����K����������������� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� 
3 55 116 45 219 

(0.8) (13.8) (29.0) (11.3) (54.8) 

���� 
3 48 94 16 161 

(0.8) (12.0) (23.5) (4.0) (40.3) 
-�"����& /-���� - 3 10 7 20 

- (0.8) (2.5) (1.8) (5.0) 

�%� 
6 106 220 68 400 

(1.5) (26.5) (55.0) (17.0) (100.0) 
2� = 13.038                                d.f. = 6                                   P-value =  0.042                      


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.41 ���&%"����,���"%��-7"������.����� �-��'�$�,%�����,$7�$�)3(($�����
,%���)*��$���&��&��$�&�����'�$���� ,+��)*������' 29.0 �9'
� ���,��
� ������.�������-�
�'�$�,%�����,$7���'�$���� ,+��)*������' 23.5 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 13.038 ���'�$��$����,$7 0.042 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($�����,%���)*��$���&��&��$�&�� ��,%���$��$�10�$�����.��
�$ �,�����,��
� ������.���#�#"�&�$� ('�-�,%�����,$7�$�)3(($�����,%���)*��$���&��&��$�&��

� �#�#"�&�$� 
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��	����� 4.42 ,%���$��$�10�'-%"�&����.����&���,���$��'�$�,%�����,$7��&)3(($�����
� (�� 
        ���'�%� 

 

"#��$�� 
�����
	#"�
�� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

��� 
6 31 69 113 219 

(1.5) (7.8) (17.3) (28.3) (54.8) 

���� 
3 31 58 69 161 

(0.8) (7.8) (14.5) (17.3) (40.3) 

-�"����& /-���� 
- 6 - 14 20 
- (1.5) - (3.5) (5.0) 

�%� 
9 68 127 196 400 

(2.3) (17.0) (31.8) (49.0) (100.0) 
2� = 14.925                                d.f. = 6                                   P-value =  0.021                     


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.42 ���&%"����,���"%��-7"������.����� �-��'�$�,%�����,$7�$�)3(($�����
� 
(�����'�%����'�$����
� �!� ,+��)*������' 28.3 �9'
� ���,��
� ������.�������-��'�$�
,%�����,$7���'�$����
� �!� ,+��)*������' 17.3 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 14.925 ���'�$��$����,$7 0.021 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($�����
� (�����'�%���,%���$��$�10�$�����.�� �$ �,�� ���,��
��&1��,��
� ������.���#�#"�&�$�('�-�,%�����,$7�$�)3(($�����
� (�����'�%�
� �#�#"�&�$� 
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     4.4.9  ��	�*�,	��-9,���"�����:9	�-�7����	
�������	�
��,���"��,�G������,�������+0��	*��	
�7��B����
����7��F            
��	����� 4.43 ,%���$��$�10�'-%"�&����������&���,���$��'�$�,%�����,$7��&)3(($�����,%���"� 

        ��� ������.���$��90 
 

��	
���� 
,����7��0%��#%�+�$������&9 

	�� 	�
��,���"��,�G����B���� (	�����) 
������� ��� ������"!
 

# ���%"�)�+77�#�� 
30 88 43 161 

(7.5) (22.0) (10.8) (40.3) 

)�+77�#�� 
15 161 31 207 

(3.8) (40.3) (7.8) (51.8) 

��&�%"�)�+77�#�� 
6 20 6 32 

(1.5) (5.0) (1.5) (8.0) 

�%� 
51 269 80 400 

(12.8) (67.3) (20.0) (100.0) 
2� = 23.767                                      d.f. =  4                                P-value =  0.000                      


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.43 ���&%"����,���"%��-7"���'�$�����������)�+77�#�� �-��'�$�,%�����,$7
�$�)3(($�����,%���"���� ������.���$��90���'�$���� ,+��)*������' 40.3 �9'
� ���,��
� ���'�$�
��������# ���%"�)�+77�#���-��'�$�,%�����,$7���'�$���� ,+��)*������' 22.0  
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 23.767 ���'�$��$����,$7 0.000 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($�����,%���"���� ������.���$��90 ��,%���$��$�10�$��'�$�
�������� �$ �,�����,����&1��,��
� ���'�$����������#�#"�&�$�('�-�,%�����,$7�$�)3(($�����
,%���"���� ������.���$��90
� �#�#"�&�$� 
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��	����� 4.44 ,%���$��$�10�'-%"�&����������&���,���$��'�$�,%�����,$7��&)3(($�������,�,"� 
        1�������� 

 

��	
���� 
,7�:		������#����7�07�����-	%�:��,�	�%��F 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

# ���%"� 
)�+77�#�� 

3 86 57 15 161 
( 0.8) (21.5) (14.3) (3.8) (40.3) 

)�+77�#�� 
7 114 59 27 207 

( 1.8) (28.5) (14.8) (6.8) (51.8) 
��&�%"� 

)�+77�#�� 
4 15 13 - 32 

(1.0) (3.8) (3.3) - (8.0) 

�%� 
14 215 129 42 400 

(3.5) (53.8) (32.3) (10.5) (100.0) 
2� =  15.942                                d.f. = 6                                  P-value =  0.014                        


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.44 ���&%"����,���"%��-7"���'�$�����������)�+77�#���-��'�$�,%�����,$7
�$�)3(($�����,"�1������������%"��"�&
�&-���1��,���� �:���'�$�)�����& ,+��)*������' 28.5 
�9'
� ���,��
� ���'�$���������# ���%"�)�+77�#�� �-��'�$�,%�����,$7���'�$���� ,+��)*������' 
21.5  
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 15.942 ���'�$��$����,$7 0.014 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"� )3(($�����,"�1������������%"��"�&
�&-���1��,���� �: ��
,%���$��$�10�$��'�$��������� �$ �,�����,����&1��,��
� ���'�$����������#�#"�&�$�('�-�
,%�����,$7�$�)3(($�����,"�1������������%"��"�&
�&-���1��,���� �:
� �#�#"�&�$� 
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     4.4.10  ��	�*�,	��-9,���"�����:9	�-�7��	���
����	�
��,���"��,�G������,�������+0��	*��	
�7��B����
����7��F           
��	����� 4.45 ,%���$��$�10�'-%"�&���
����&���,���$��'�$�,%�����,$7��&)3(($�������,�,"� 

         1�������� 
 

	���
�(���) 
,7�:		������#����7�07�����-	%�:��,�	�%��F 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

1 - 10,000 
9 68 43 9 129 

(2.3) (17.0) (10.8) (2.3) (32.3) 

10,001 - 20,000 
3 102 46 27 178 

(0.8) (25.5) (11.5) (6.8) 44.5 

20,001 – 30,000 
1 42 28 3 74 

(0.3) (10.5) (7.0) (0.8) (18.5) 

30,001 – 40,000 
1 - 6 3 10 

(0.3) - (1.5) (0.8) (2.5) 

40,001 – 50,000 
- - 3 - 3 
- - (0.8) - (0.8) 

50,000 ��	�
) 
- 3 3 - 6 
- (0.8) (0.8) - (1.5) 

�%� 
14 215 129 42 400 

(3.5) (53.8X (32.3) (10.5) (100.0) 
2� =       39.187                          d.f. =15                                    P-value = 0.001                        


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.45 ���&%"����,���"%��-7"���'�$����
�� 10,001-20,000 ��
 �-��'�$�
,%�����,$7�$�)3(($�����,"�1������������%"��"�&
�&-���1��,���� �: ���'�$�)�����& ,+��)*�
�����' 25.5  
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 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 39.187 ���'�$��$����,$7 0.001 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($�����,"�1������������%"��"�&
�&-���1��,���� �: ��
,%���$��$�10�$��'�$����
�� �$ �,�����,����&1��,��
� ���'�$����
���#�#"�&�$� ('�-�
,%�����,$7�$�)3(($�����,"�1������������%"��"�&
�&-���1��,���� �:
� �#�#"�&�$� 
 
��	����� 4.46 ,%���$��$�10�'-%"�&���
����&���,���$��'�$�,%�����,$7��&)3(($�����
� (���� 

        �'�%� 
 

	���
� (���) 
�����
	#"�
�� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

1 - 10,000 
- 47 39 43 129 
- (11.8) (9.8) (10.8) (32.3) 

 10,001 - 20,000 
9 15 67 87 178 

(2.3) (3.7) (16.8) (21.8) (44.5) 

20,001 – 30,000 
- 3 15 56 74 
- (0.8) (3.7) (14.0) (18.5) 

30,001 – 40,000 
- 3 3 4 10 
- (0.8) (0.8) (1.0) (2.5) 

40,001 – 50,000 
- - - 3 3 
- - - (0.8) (0.8) 

50,000 ��	�
) 
- - 3 3 6 
- - (0.8) (0.8) (1.5) 

�%� 
9 68 127 196 400 

(2.3) (17.0) (31.8) (49.0) (100.0) 
2� = 82.006                               d.f. = 20                                   P-value = 0.000                     


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
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#���&
�  4.46 ���&%"����,���"%��-7"���'�$����
�� 10,001-20,000 ��
 ��' 20,001-
30,000 ��
 �-��'�$�,%�����,$7�$�)3(($�����
� (�����'�%����'�$����
� �!� ,+��)*������' 
21.8 ��' 14.0 #������$� �"%����,��
� ���"%&���
�� 1-10,000 ��
 �-��'�$�,%�����,$7�$�)3(($�
����
� (�����'�%����'�$�)�����& ,+��)*������' 11.8  
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 82.006 ���'�$��$����,$7 0.000 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($�����
� (�����'�%���,%���$��$�10�$��'�$����
�� �$ �,�����,��
��&1��,��
� ���'�$����
���#�#"�&�$�('�-�,%�����,$7�$�)3(($�����
� (�����'�%�
� �#�#"�&
�$� 
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     4.4.11  ��	�*�,	��-9,���"�����:9	�-�7����������
�����	�
��,���"��,�G������,�������+0�
�	*��	�7��B����
����7��F 
                   
��	����� 4.47 ,%���$��$�10�'-%"�&
� �$����$���&���,���$��'�$�,%�����,$7��&)3(($������%�� 

        �)<�
������'�%� 
 

��������
�� 
������H
�����	"�
�� 

	�� 	�
��,���"��,�G����B���� (	�����) 
���� ������� ��� ������"!
 

����#���& 
- 13 82 72 167 
- (3.3) (20.5) (18.0) (41.8) 

����,���,�$%/
7�#+ 

- 15 35 44 94 
- (3.8) (8.8) (11.0) (23.5) 

������"�/-��$� 
3 24 43 69 139 

(0.8) (6.0) (10.8) (17.3) (34.8) 

�%� 
3 52 160 185 400 

(0.8) (13.0) (40.0) (46.3) (100.0) 
2� = 18.907                               d.f. = 6                                    P-value =  0.004                        


� �� : (�����,���%9 
-����-�! : ,"���%&����,��,"������' 
 

#���&
�  4.47 ���&%"����,���"%��-7"�$����$�
� ����#���&�-��'�$�,%�����,$7�$�)3(($�
�����%���)<�
������'�%� ���'�$���� ,+��)*������' 20.5 �9'
� ���,��
� �$�������"�-���-��$� 
��'����,���,�$%-�������7�#+ �-��'�$�,%�����,$7�$�)3(($������%���)<�
������'�%����'�$�
���
� �!� ,+��)*������' 17.3 ��'11.00 #������$� 
 ��� ��+(��9�,"�
,��,%�0(�����,���%9
�� 18.907 ���'�$��$����,$7 0.004 6� &��,"�����
�%"� 0.05 �$&�$	�(�&��!)
��%"�)3(($������%���)<�
������'�%� ��,%���$��$�10�$�
� �$����$���&
���,��
� #"�&�$� �$ �,�����,����&1��,��
� �$����$�������
� �#�#"�&�$�('�-�,%�����,$7�$�)3(($�
�����%���)<�
������'�%�
� �#�#"�&�$� 


